
 

  



 

B.Sc. II Electronics 

1. In baseband signal the audio frequency signal range is: 

A. 0 – 20 KHz 

B. 10 – 20 KHz 

C. 5 – 10 KHz 

D. 0 – 20 KHz 

2. The dc current gain in common collector configuration is given by: 

A.  

B.  

C.  +1 

D.  +1 

3. Oscillators must employ: 

A. Positive feedback 

B. Negative feedback 

C. Neither negative nor positive feedbacks 

D. None 

4. The ripple factor of a bridge rectifier is: 

A. 0.482 

B. 0.812 

C. 1.11 

D. 1.21 

5. Total phase shift in the RC oscillator is: 

A. 0 

B. 180 

C. 270 

D. 90 



 

6. The double sideband suppressed carrier comes under______modulation. 

A. frequency modulation 

B. phase modulation 

C. Amplitude modulation 

D. Digital pulse modulation 

 


